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INSTRUCTIONS TO CANDIDATES
	READ THESE INSTRUCTIONS CAREFULLY BEFORE ANSWERING THE QUESTIONS


1.
Write neatly.

2.
Number your answers exactly as the questions are numbered.

3.
Candidates must answer FOUR questions, counting 80 marks each.


ONE question from SECTION A;


ONE question from SECTION B;


ONE question from SECTION C; and 


Any ONE other question from Section A, B or C.
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SECTION A : PHYSICAL GEOGRAPHY

Answer at least ONE question from this Section.
QUESTION ONE
Synoptic map interpretation

1.1
Study the synoptic weather map before answering the questions.


(The letters A, B, C, D, E, F, X and Y have been printed on the synoptic chart)


1.1.1
Give TWO pieces of evidence from the synoptic weather map that 



indicates that the map represents a summer situation.



(4)


1.1.2
Describe the pressure gradient along the frontal system at A.


(2)


1.1.3
Identify and name the pressure cells B, D and E.



(6)


1.1.4
With reference to the weather system C:



1.1.4.1

Name the weather system.





(2)



1.1.4.2

In which planetary wind belt does weather system C 





normally occur?






(2)



1.1.4.3

The weather system has not reached its mature stage of 





development.  Provide TWO reasons evident on the map 





that supports this statement.




(4)



1.1.4.4

Describe the surface air circulation around the pressure 





cell C.








(2)



1.1.4.5

By what name will weather system C be called if it 





occurred in the United States of America?





A – hurricane





B – cyclone





C – typhoon 







(2)


1.1.5
Describe the weather being experienced at Durban.



(5)


1.1.6
Draw a simplified cross section from X to Y along feature F and 



indicate the following:



1.1.6.1

The position of the warm and cold fronts.



(2)



1.1.6.2

The main rain bearing clouds.




(2)



1.1.6.3

The area where rainfall will occur.




(2)














(35)
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ECOSYSTEMS

1.2
Study the diagram showing an ecosystem and answer the questions.
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1.2.1
Define the term ecosystem.







(3)


1.2.2
Name TWO biotic components of this ecosystem.



(4)


1.2.3
From the sketch identify the following:

1.2.3.1 Primary source of energy.

1.2.3.2 Producer.

1.2.3.3 Primary consumer.

1.2.3.4 Carnivores.

1.2.3.5 Decomposers.






(5)


1.2.4
State the term used to describe the ability of an ecosystem to maintain 



its balance.









(2)


1.2.5
Use the elements reflected in this ecosystem to explain the carbon cycle.
(5)


1.2.6
Explain the impact that urban expansion will have on this environment.
(4)














(23)
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GEOMORPHOLOGY

1.3
Study the diagram below showing geomorphological features and answer 


the questions.
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Source:  Physical Geology


1.3.1
State the nature of the rock strata associated with the above landscape.
(2)


1.3.2
Identify and name the features at P, Q and R.




(6)


1.3.3
Explain briefly how feature Q was formed.




(3)


1.3.4
Name an area in South Africa where these features are commonly found.
(2)


1.3.5
Name the typical slope elements marked A, B, C and D.


(4)


1.3.6
Explain why area D is the most suitable slope for crop cultivation.

(3)


1.3.7
State an economic importance of the above features.



(2)














(22)












     TOTAL:  [80]
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QUESTION TWO
2.1
Match the concepts in Column B with the statements in Column A.  


Write down 2.1.1 to 2.1.6 and next to each the letter of the correct answer 


e.g. 2.1.7  J

	COLUMN A
	COLUMN B

	2.1.1
The birth (first stage) of a temperate cyclone.
	A.
polar front

	2.1.2
Area of separation between the westerly and 
polar winds.
	B.
cyclogenesis

	2.1.3
Energy source of tropical cyclones.
	C.
berg 

	2.1.4
Increase in temperature with an increase in 
height.
	D.
latent heat

	2.1.5
Area of calm at the centre of a tropical storm.
	E.
eye

	2.1.6
Hot, dry off-shore winds that blow over South 
Africa in winter.
	F.
monsoons

	
	G.
jet-stream

	
	H.
mature stage

	
	I.
thermal inversion














6 x 2 = (12)
CITY CLIMATE

2.2
Study the sketch showing temperature over Johannesburg during June 


and answer the questions.
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Source:  Exploring Geography 10
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2.2.1
Name lines on a map indicating equal temperature.



(2)


2.2.2
State the approximate altitude (height) of Hillbrow.



(2)


2.2.3
State the temperature above the city at the point labelled A.


(2)


2.2.4
What aspect of micro-climate is indicated in the sketch?


(2)


2.2.5
State and explain any THREE factors that are responsible for the 



higher temperatures over the city.






(9)


2.2.6
Explain how the conditions shown in the sketch may influence the 



health of the people living in the city.





(4)


2.2.7
Provide TWO possible solutions to the problem mentioned above (2.2.6).
(4)














(25)

RIVER SYSTEMS

2.3
Refer to Diagrams A and B showing two river systems and answer the 


questions.
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2.3.1
With reference to DIAGRAM A:



2.3.1.1

Identify the type of stream pattern shown in the diagram.
(2)



2.3.1.2

Name features X and Y.





(4)



2.3.1.3

Name the type of underlying rock that resulted in the 





formation of the stream pattern.




(2)



2.3.1.4

Draw a longitudinal profile of stream J from points E to 





F and indicate on the profile the source, nick point and 





ultimate base level.






(8)



2.3.1.5

Determine from the profile (2.3.1.4) if this river system has a 





graded or ungraded profile. Give a reason for your answer.
(3)



2.3.1.6

Mention TWO sources from which the river system 





obtains its water.






(4)



2.3.1.7

From the diagram determine ONE factor that will influence 





the rate of infiltration.





(2)


2.3.2
With reference to DIAGRAM B:



2.3.2.1

Identify the type of stream pattern shown in the diagram.
(2)



2.3.2.2

State the underlying rock structure that resulted in the 





stream pattern at R.






(2)



2.3.2.3

Explain why the soil profile at S is more developed 





than at R.







(4)














(33)
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SATELLITE IMAGE

2.4
Refer to the satellite image dated 03/06/04 and answer the questions.

[image: image12.png]o
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2.4.1
The land (subcontinent) is dominated by clear skies.







2.4.1.1 Name the atmospheric pressure cell associated with this 



condition.







(2)

2.4.1.2

State TWO characteristics of the pressure cell mentioned 



in 2.4.1.1.







(4)


2.4.2
State and explain the impact feature A will have on the weather over 



South Africa in the next few days.






(4)














(10)












     TOTAL:  [80]
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SECTION B:  SETTLEMENT GEOGRAPHY
Answer at least ONE question from this Section.

QUESTION THREE

3.1
Match the statements in COLUMN A with the terms in COLUMN B.  Write 


only the number of the statement and the letter of the correct term next to it, 



e.g. 3.1.6  H.

	COLUMN A
	COLUMN B

	3.1.1
A decrease in the population of farming areas.
	A.
morphology

	3.1.2
Urban settlements with one dominant function.
	B.
conurbation

	3.1.3
A large city surrounded by several towns which 
are dependent on it.
	C.
rural depopulation

	3.1.4
The external appearance of an urban settlement.
	D.
specialised cities

	3.1.5
The physical growth of a town or city.
	E.
urban expansion 

	

	F.
metropolis

	
	G.
rural-urban migration














5 x 2 = (10)
URBAN SETTLEMENTS

3.2
Study the land-use map showing the general urban structure of a 


modern city and answer the questions.
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Source:  Adapted from Population and Settlement
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3.2.1
With reference to the general shape of this city:



3.2.1.1

State the shape of the city.





(2)



3.2.1.2

Give the physical factor that was responsible for its shape.
(2)


3.2.2
The CBD is highly accessible.



3.2.2.1

Provide TWO reasons from the map to support this 





statement.







(4)



3.2.2.2

List TWO problems experienced in this CBD as a result 





of its high degree of accessibility.




(4)



3.2.2.3

State and explain ONE solution to overcome any one of 





the problems mentioned in 3.2.2.2.



(4)


3.2.3
Refer to the city’s main industrial area.



3.2.3.1

Explain TWO locational advantages enjoyed by this 





industrial area. 






(6)



3.2.3.2

Explain the term urban blight.




(3)



3.2.3.3

State and explain ONE measure adopted by the city 





council to address the issue of urban blight around the 





CBD.








(4)


3.2.4
Provide ONE piece of evidence to show that urban expansion has 



taken place in this city.







(3)


3.2.5
A ‘green belt’ has been planned to be located to the North of the city.



3.2.5.1

Describe the term green belt.




(2)



3.2.5.2

Explain the role played by the green belt to help 





improve the urban environment.




(6)














(40)
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RURAL SETTLEMENTS

3.3
Refer to the sketch below showing rural settlements and answer the questions.
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Source:  Adapted from Population and Settlement


3.3.1
Define the term rural settlement.






(3)


3.3.2
Differentiate between the terms site and situation of a settlement.

(6)


3.3.3
The type of settlements shown in the sketch represents a …

A. hamlet.

B. farmstead.

C. village.








(2)


3.3.4
Are the settlements in the sketch wet point or dry point settlements?  



Give a reason for your answer.






(5)


3.3.5
List THREE advantages of living in these settlements.



(6)


3.3.6
State whether commercial or subsistence farming is shown in the 



sketch.  Give ONE reason for your answer.




(4)


3.3.7
State TWO environmental problems that can occur in this area.

(4)














(30)












     TOTAL:  [80]
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QUESTION FOUR
4.1
Write numbers 4.1.1 to 4.1.5 in your answer book and next to each 


number write the letter of the correct answer.  eg.  4.1.6  D.
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4.1.1
The contour map indicates a ___________ 


settlement.

A. gap

B. crossroad

C. dispersed

D. defence








      Source:  Understanding Human Geography


4.1.2
This photograph indicates a/an __________ settlement.

A. [image: image16.png]e Pretoria
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defence

B. isolated

C. nucleated

D. urban








    Source:  Senior Geography 10
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4.1.3
The town (Barnstaple) can be classified as a ___________ site.
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A. defence

B. wet point

C. fording (crossing)

D. linear








   Source:  Understanding Human Geography

4.1.4
The term that describes the formless expansion of the city is …

A. urban growth.

B. urban sprawl.

C. urban structure.

D. urbanisation.

4.1.5
The urban structure in the diagram below represents the 

[image: image18.png]~~~~~

Sea





_________ model.

A. concentric

B. sector

C. multiple nuclei

D. rectangular









      Source:  Senior Geography 10














5 x 2 = (10)
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RURAL SETTLEMENTS

4.2
Study the following sketch showing rural land use and answer the questions.

[image: image19.png]



Source:  Adapted from Themes in Human Geography


4.2.1
Identify the type of rural settlement at each of P and Q.


(4)


4.2.2
State THREE disadvantages of living in settlement Q.



(6)


4.2.3
Refer to the settlement labelled R.



4.2.3.1

Name the settlement pattern with reference to shape.

(2)



4.2.3.2

Explain the reason for the pattern (answer to 4.2.3.1).

(2)

P. T. O. …/4.2.4  Intensive farming …
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4.2.4 Intensive farming methods are being practised on the farm labelled S.


4.2.4.1

Explain the term intensive farming.



(3)

4.2.4.2

Name TWO crops grown on this farm.



(2)

4.2.4.3

Give THREE factors evident in the sketch that favour 



this type of farming.






(6)


4.2.5
The removal of woodlands in this area will result in an increase in soil 



erosion.  Assess the impact this will have on:



4.2.5.1

infrastructure.






(4)



4.2.5.2

agriculture.







(4)














(33)

CHANGING FARMING TRENDS

4.3
Study the table below showing changing farming trends in a first world 


(developed) country and answer the following questions.

	CHANGES IN FARMING TRENDS
	1980
	1990
	2000

	Total farm population (millions)
	34
	26
	20

	Average farm size (hectares)
	1.20
	1.10
	0.8


Source:  Adapted from X-Kit Geography Grade 12


4.3.1
With reference to the trend in the total farming population from the 



years 1980 to 2000:



4.3.1.1

Describe the trend.






(2)



4.3.1.2

Give TWO reasons for the trend.




(6)



4.3.1.3

Suggest TWO ways in which the government can assist 





in changing this trend.





(6)


4.3.2
Refer to the changes in the farm size from 1980 to 2000:



4.3.2.1

Describe the changes in farm size.




(2)



4.3.2.2

Suggest ONE possible reason for this change.


(3)



4.3.2.3

Evaluate the impact of this trend on the country’s food 





production.







(4)














(23)
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URBAN LAND VALUES

4.4
Refer to the graph below illustrating land values in a city and answer the 


questions.

[image: image20.png]



Source:  Adapted from Themes in Human Geography


4.4.1
Explain the term urban profile.






(3)


4.4.2
Describe the value of land at A.






(2)


4.4.3
Account for the sharp drop in the graph from A to B.



(4)


4.4.4
Describe the trend at C.  Give a reason for your answer.


(5)














(14)












     TOTAL:  [80]
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SECTION C:  REGIONAL GEOGRAPHY
Answer at least ONE question from this Section.

QUESTION FIVE
5.1
Match the statement in COLUMN A with a term in COLUMN B.  Write only 


the number and the letter of the correct answer next to it, e.g.  5.1.8  K.

	COLUMN A
	COLUMN B

	5.1.1
People who have moved to seek 
employment great distances from their 
homes.
	A.
Erosion 

	5.1.2
The value of all goods and services 
produced by a country in a year.
	B.
Primary

	5.1.3
Movement of people from farms to towns 
and cities.
	C.
Secondary

	5.1.4
Removal of top soil as a result of poor 
farming methods.
	D.
Emigrants

	5.1.5
A prolonged period of no rainfall.
	E.
Immigration

	5.1.6
People leaving a country to settle in 
another country.
	F.
Migrant labour

	5.1.7
Movement of people into a country.
	G.
GNP

	
	H.
Rural urban migration

	
	I.
GDP

	
	J.
Drought















(14)
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CLIMATE OF SOUTH AFRICA

5.2
Study the map of South Africa and the table below showing temperature 


and rainfall figures and answer the questions.
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	Cape Town
	Kimberley
	Bloemfontein
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	20,9

12,2

8,7
	25,3

10,8

14,5
	23,0

7,7

15,3
	24,0

14,8

9,2
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	15
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	57

7
	83

8
	127

10


Source:  Adapted from Focus on Geography


5.2.1
Name the city which experiences the lowest average temperature 



during winter.








(2)


5.2.2
Give TWO reasons why this area (5.2.1) has low winter temperatures.
(4)


5.2.3
Name the city which experiences the lowest temperature range.

(2)


5.2.4
Name the city which receives the highest rainfall.



(2)


5.2.5
Give TWO reasons for the high rainfall in this area (5.2.4).


(4)


5.2.6
Name the city that has the lowest average rainfall.



(2)


5.2.7
Explain the influence that low rainfall in this area (5.2.6) has had on 



vegetation.









(4)


5.2.8
With reference to rainfall in the South Western Cape:



5.2.8.1

Explain why Cape Town receives high rainfall in winter.
(6)



5.2.8.2

Assess ONE positive influence of winter rainfall on crop 





farming in the South Western Cape.



(4)














(30)

P. T. O. …/POPULATION …

69(GEOGH2.05)

Page 20 of 27

POPULATION

5.3
Study the map showing population density of South Africa and answer the questions.

[image: image22.png]



Source: Adapted from New Generation Geography


5.3.1
Define the term population density.






(3)


5.3.2
Name the industrial complexes located within each of the densely populated 



areas labelled A, B and C.







(6)


5.3.3
Give the approximate population density in each of the following areas:

5.3.3.1

D

5.3.3.2

E

5.3.3.3

G








(6)


5.3.4
Suggest TWO reasons for the difference in population density between 



area A and F.









(6)


5.3.5
Assess the impact that the population density at G will have on the 



development of infrastructure.






(5)


5.3.6
Area G experiences low rainfall.



5.3.6.1

Explain ONE reason for this low rainfall.



(4)



5.3.6.2

Give THREE problems associated with water conservation 





in this area.







(6)














(36)












     TOTAL:  [80]
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QUESTION SIX
6.1
Match the statement in COLUMN A with a term in COLUMN B.  Write the 


number and the letter of the correct answer next to it,  e.g.  6.1.7  J.

	COLUMN A
	COLUMN B

	6.1.1
A period of prolonged rainfall.
	A.
Population density

	6.1.2
The growing of the same crop on that 
plot of land every year.

	B.
Population distribution

	6.1.3
The spread of people over the country.
	C.
Savannah

	6.1.4
The wise management of available 
resources.
	D.
Mediterranean Shrubs

	6.1.5
Vegetation found where winter rainfall 
is common.
	E.
Flood

	6.1.6
Physical surroundings and conditions.
	F.
Monoculture

	
	G.
Crop rotation

	
	H.
Conservation

	
	I.
Environment















(12)
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ECONOMIC ACTIVITY

6.2
Refer to the graph showing the contribution of each province to the GDP in 


1996 and answer the questions.

[image: image23.png]



Source:  South African Survey 2003


6.2.1
Which province made the highest contribution to the tertiary sector?

(2)


6.2.2
Name the province that contributed the least to the GDP.


(2)


6.2.3
Where did Kwazulu – Natal rank in contribution to the GDP?


(2)


6.2.4
What was the contribution to the GDP made by Gauteng?


(2)


6.2.5
The graph shows the contribution of three economic sectors.  Using 



examples, differentiate between primary and secondary economic activities.
(6)


6.2.6
Gauteng has the highest concentration of population in South Africa.



6.2.6.1

Explain how the following problems will impact on the region:

(i) Provision of services

(ii) Utilisation of resources

(iii) Air pollution






(12)



6.2.6.2

Suggest solutions to any TWO of the problems 





(refer to 6.2.6.1) above.





(8)














(34)
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DESERTIFICATION

6.3
Study the map showing desertification in South Africa and answer the questions.

[image: image24.png]



Source:  Adapted from X-Kit Geography


6.3.1
Define the following terms:

6.3.1.1

Desertification
 


6.3.1.2

Vegetation imbalance



6.3.1.3

Wild life extinction






(9)


6.3.2
State the natural vegetation found at A.





(2)


6.3.3
With reference to desertification in South Africa:



6.3.3.1

Describe the trend of desertification in respect of 





direction of movement.





(3)



6.3.3.2

Name and explain TWO ways in which human activities 





at A contributed to desertification.




(8)


6.3.4
Assess the negative impact desertification may have on:

6.3.4.1 Agricultural production at B
6.3.4.2 Secondary activity at C
6.3.4.3 Ecotourism at dam D





(12)














(34)
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QUESTION SEVEN

7.1
Classify each of the job types found in the TERTIARY SECTOR listed 


below into the correct category.  Write down 7.1.1 to 7.1.5 in your answer book 


and next to each the correct job type for each of the given categories.  


The first example has been done for you, Utilities – Electricity Supplier.  


(DO NOT redraw the table)

[image: image25.png]





	Job Category
	JOB TYPE

	Utilities
	Electricity Supplier

	Government
	7.1.1

	Health
	7.1.2

	The Media
	7.1.3

	Finance and Business
	7.1.4

	Trade and Transport
	7.1.5















(5)
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TRADE

7.2
Refer to the diagrams below and answer the questions:

[image: image26.png]ZiD




[image: image27.png]


[image: image28.wmf]
Source:  Adapted from South African Regional Geography


7.2.1
Define the following terms:



7.2.1.1

Balance of trade



7.2.1.2

Trade 







(6)


7.2.2
Give the value of South African exports in:

7.2.2.1 1990

7.2.2.2 2000








(2)


7.2.3
Describe the trend shown by South African imports between 1990 and 

2000.










(3)


7.2.4
State TWO positive and TWO negative factors that may affect South 



Africa’s trade with Africa.







(8)


7.2.5
Explain, giving THREE reasons, why the trade balance shown in 



DIAGRAM B is positive for the country.




(9)


7.2.6
Assess ONE positive influence import substitution will have on 



South Africa’s balance of payments.





(5)














(33)
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ECONOMIC DEVELOPMENT

7.3
Refer to the map showing South Africa’s Spatial Development Initiatives (SDIs) 


and Industrial Development Zone (IDZs), 1995.


Source:  Focus on Geography


7.3.1
Define the following terms:

7.3.1.1 Centralisation.

7.3.1.2 Deconcentration.






(6)


7.3.2
Name the Industrial Development Zones (IDZs) at:

7.3.2.1 A.

7.3.2.2 H.








(2)


7.3.3
Identify the Spatial Development Initiatives (SDIs) at:

7.3.3.1 9.

7.3.3.2 3.








(2)


7.3.4
"SDIs are a strategy (measure) for the development of economic 



activities by boosting investment and providing opportunities for 



development in a series of ten underdeveloped corridors in South 



Africa".




7.3.4.1

Using ONE example from the map explain how SDIs may 





achieve the principle of decentralization of economic 





activity from core areas.





(6)



7.3.4.2

Assess ONE positive outcome decentralisation of economic 





activities may achieve for the South African economy.

(5)














(21)
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RECONSTRUCTION AND DEVELOPMENT

7.4
Refer to the photograph and extract ‘Mrs Mop keeps town clean’ and then 


answer the questions.

	

	Rebecca Cele has tried to earn a living by selling fruit and vegetables at an informal stall near a taxi rank.  As part of a reconstruction and development project (RDP), the town council of Stockdale, now employs Rebecca to keep the centre of town clean, which is often left dirty with litter.  Over weekends she employs school children to help in the clean-up.  She is kept very busy and says that the solution to littering is teaching people about the problem and making many rubbish bins available in busy parts of the town centre.


Source:  Adapted from The Witness 13 July 2004


7.4.1
Describe the environmental problem shown in the photograph and 



mentioned in the extract.


 




(2)


7.4.2
What is the meaning of reconstruction and development?


(3)


7.4.3
Give the meaning of the term informal sector.




(3)


7.4.4
Using examples mentioned in the extract, explain TWO measures to 



help solve the problem.







(8)


7.4.5
Assess ONE positive way the children who help Mrs Cele will benefit 



from this project.








(5)














(21)
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